Score Score

Questions from 1 -7 earry one score each, a0 e agy¥ e @100y 6] 61pod

answer all the guestions. (7x1=7) | allme. agigio caioa)mRBENj0 HEMBE af)?Ddh.
(T=x1=T)
1. Which of the following is an example 1. ayues mmigganaicd agoserd apate
for ideal solution ? el paoantemasigaant ?

a) Phenol + aniline a) adlamocd + aondleficd

b} agmemotd + @ruepoend
b) Ethanol + acetone

C) MROULERIET + EE0e0I8a000
¢) Acetone + chloroform

d) erucdmied + esogunlmd
d) Benzene + toluene

2. ldentify the ore of zinc from the 2. omigagaiwle rme nisle aealdean

following : ou dosicdl o T,
a) Siderite a) mioweand
b) Malachite b) moaeesng
¢) Haematite C) GaOoenRE
d) Calamine d) sessdld
3. Write the ‘Spin-only’ formula used to 3. HI0Td: @DHNe HEMeaIHa mallmies
calculate the magnetic moment. ‘nflod-eggl’ M@0 ag)Rimie:.
4. Give an example for a hexadentate 4. eanemonwefy ‘elnsdulm” sy

ligand. £AINNMEMo Af)FAT)E:.
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5. What is the chemical name of aspirin ?

6. Which synthetic zeolite is used for

converting alcohol to gasoline ?

7. What are the main constituents of

dettol 7

Questions 8 — 20 carry two score each.

Answer any ten questions,  (10x2=20)

8. Write any two differences between

crystalline and amorphous solids.

9. A compound with cubic structure is
made of elements X and Y, X atoms are
at the corners of the cube and Y atoms
are at the body centre. Write the simplest
formula of the compound.

10. When a zinc electrode (zn(s)/zn®| )
combines with SH € at 298K and forms
a galvenic cell. E°cell is found to be,
0.76 V. Write cell representation of the
cell and calculate the standard electrode

potential of the zinc electrode.

Score
5. epmialdied eammomne agyrmos ?

6. age” @yelomlswsasaglomnwosm’
mpRHnEan0Q1EH08 N Inmoelmoses)
@oQand galewoudlaaymna ?

7. esegoae wom naisaeemth afemee ?

Qs mod ool cuer ealdeyesides cend
ampod afime. agemslele almm 60156 jeBcbad

SO fg)PJmdh. (10%2=20)

8. igyellosunssago, anlguelle alnamge
madlenas apemElalo meNE (LYW |IMEmsd
) P,

9. & yenisasmaes e rowsme X, Y agyrd
qyelsamgont oidailofidenmy oolldd X

apnsrmEod @ yenlant ayelsmsege Y magsmmcd
& enfladd eeuoaulessmanlae mudal

.0 KGN, ricmyenmaTsia 2re) rumoe o
A eI,

10. SH e wymonl 298Ka milsy eeiswgon,
() S @l e otiouies
s oilfanl ofldeasym;. E°cell, 0.76 V

(m{s)m?®’

agym @seeaamlalgeng. o emuglled
et deamedeed ag)wios. sysoem
miles goelssgoen] rlmiem faieiEon
EIEISMaH T SETBEIBN]E:.
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12.

13

14.

1.

16.

17.

18.

19.

Score

How many coulombs of electricity are
required to produce 40 ¢ of Al from Al"'

solution 7

What is chemical kinetics ? Give any

one importance of it ?

Explain homogeneous catalysis with one

example.

Explain Mond process.

P, has lower boiling point than NH,,
why ?

Silver atom has completely filled *d’ orbitals
(4 d'" in its ground state. Why it is

considered as a transition metal ?

Actinoid contraction is greater than

Lanthanoid contraction. Account forit?
*,

Draw the cis and trans 1S0METS of

[CoCl (en),]' ?

What is ‘DIBAL — H* 7 Give one
importance of it 7

11.

12.

13.

14.

15.

16.

17.

18.

19.

Score

AP enaodiaied afiomge 40 g Al ofidadlea;
s @ @go sy o ymoaTT 7

aomdiongrotingr? gdiefogameier
I nowomye o) Fim.

et HEEnI0aMo B0 HNDEM
cruaciime CMAADIET]E:.

amoiod e OfliRemddes:.

PH, #sNH, cmeaadh madnm aiaciewosn

paa ag) e ?

Adamonmeonruaied miimad el

aydepa gl “d’ sobenineiegen (4d ")
paa ageild calego erflabouicilenT Mool manm

et nmowl Eaym T ag)TayeKa0ENE 7

e emoaiiod E0ETRSEMaT CmOT
signbosmoeios taoemisoamnaaiamanccd

aysimeisr. AflvpREISNE:.

[CoC J'T(cn}:l awfh o), octbard
Bg)ETIDBEINS PRISM QLICTYE

‘DIBAL — H’ agyrmodd agim ? eoaliacg 6oy
IO A FYTEs.
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20. Write the correct order of basic character
of following amines is, a) Gas phase and
b) in aqueous solution.

CH, NH,, (CH,),NH, (CH)\N.

Questions from 21 - 29 carry three score
each. Answer any seven questions.
(7%3=21)

21. Write any three applications of Henry’s

law.

22. Activity and selectivity are the two
important terms used in catalysis.
Explain these terms with suitable

examples.

23. a) Whrite the formula for the following

coordination compounds.

i) Tetra ammine aquachlorido cobalt
(11I) chloride

ii) Potassium tetrahydroxidozincate (II)

b) Write the [IUPAC names of the given
coordination compound K[Co(SCN),]

24. Explain the S' mechanism with suitable

example.

Score

20. mosy esosimuldenm aodlmealas
a) cuomamsaucruoaieye b) meflaenamel
BUNeE GUMIEmEAS W @hio

gAY
CH, NH,, (CH,),NH, (CH,),N.

21 qymad 29 cuen e.aloa)sorcdes aym aayed
allme. ag@maleyo ag¥ 6.0100)em0ded pooo

ag)Pim)dh. (7x3=21)

21. aanmdd) mooosied agaoslege oy
I oemacTie: B lGWOUNETRGD ng) AT,

22. mwqgnid, emekgnifagyiogaisaicarid
D lG@oUlleaym (nlwom alasmRgoe. D

asmad HEsanoemTunc@o OluRaaHadE:

23, a) apnes mOMgEE D IToIWIEE:
(U EMETBEISS OO0 )]s,

i) ssis0 ﬁ;.-;dﬂfﬂ @D PeFHOCIE0
ednendg (I11) egoaaonsy

il) ©a10500 SSISINOANTOLIFIEALI
s (I1)

b) EMIgEE S KNeEwoES: owHEEn
[UPAC momo agsymye. K[Co(SCN),]

24. S Wwoniull EeMEWORNIIW HEOBEM
madime nllveEmosa)s:.
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25. Complete the following :

dh’ HNO;

conc. HNO,
conc. HISO =

+zn.-—>

QO
Oz
Q0

26. Write any three methods for the preparation
of ethanamine (C,H, - NH.).

27. Write the important structural and
functional differences between DNA
and RNA.

28. a) Name two synthetic polypeptide
fibers.

b) Indicate the monomers in each.

29. Explain the therapeutic action of the

following :
a) Antacids
b) Analgesics

¢} Antibiotics

Score
25, apoues endgaan aydollediens.

OH
2) @ dil HNO,
OH
conc. HNO,
b) T e
conc. H,S0,
OH
c) @ +zn 8,

26. aguomodied (C,H, — NH,) aildamoemicd
palswouienm agedeiele oy modensid
BTntalint=y

27. RNA mssage DNA apsswe nelsmoatcio
(LRGN IROLIEINY [ IO CLYETIENECH

DTS,

28. a} nendeayia e allaan alod mon@gies
o lEWUPY .
b) epcumiad eosnorriseije GaosEOBO)Ed

aue@omy auaio faad.
29, apnues morigesniees allelnonnaon
indeuimrmime QlueEmoBe)e:.

a) moiiorniiounch
b) memobenleseud

¢) @orfeuowogened
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Questions 30 - 33 carry four score

each. Answer any three questions.

Score

(3x4=12)

Score

@ja-jom; e aya jemiago cUe aa ke )emRubes moel
sapod allme. agemelelo ey @106 EuRUbes)
BAMOG ag)Fi M. (3x4=12)

30. a) Explain pseudo first order reaction

3.

32,

33.

b)

a)

b)

a)

b)

with an example.

A first order reaction has a rate
constant 1.15 x 103 §-'. How long
will 5g of this reactant take to
reduce to3g 7

Why does ozone act as a powerfull

oxidising agent 7

How is O, estimated quantitatively 7

Explain the reason for the less
reactivity of chlorobenzene than

alkvlchloride 7

Identify the major product formed
by the reaction of 2-bromobutane
with alcoholic KOH. Give reason

forit.

Explain the following reactions

a) Aldol condensation

b) HVZ reaction

30. a) ®&nis 8o EELATUEICLBEMMS B

3.

32.

33

b)

a)

b)

a)

b)

BE0anmam Maditc Albanodaas:.

S B0 (gl axrcubmmaaisd
rilmeest crusdleoeme 1.15 % 1071 5! mgen
E00 QoM cudmmmeTich 5 aodiete
3g mpall eyowymalod agm mowe
AL DIBETITTT BB 616 o
EHOBTIEND AFYTTYSIEH0ENE (o B fley
aoglsmodlauo cdamleammy ?

soemuoarilan moan andeceneaod
EEMENISNTND afyin ldonmaen ?

apdenaiat egiouumensnoch
g oe0oedmiom’ ‘(@lwiwlam
anoauosn’. pallegd soceme aflvae

@O,
2-gleruoemosruyesd mpmenannoges)

KOH ooa) |awcaubomleaiemiod
idleeynm fpiom gt men alidlad

wyes. Eaiend Ssonamo AleEaoHanE:

agoues omriiges wlefliudmmmemod.
aflteamodes..

a) mpiienuocd ememarbemnydd

b) agyal all. squad i oudermne
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